
 

QUIZ 4 – math grade 9 
 

1. (70%) Calculate/Simplify as much as possible: 

 

a. (5%) –3
–2

 – 5
–1

 = 

 

 

b. (5%) –(–2)
–2

 – 2
–1

   = 

 

 

c. (5%) x
–3

 + x = 

 

d. (5%)  


3

1

3

1

278  

 

e. (5%)  









2

1

100

64
 

 

f. (5%)  






 


3

5

125

8
 

 

g. (5%)  Write in the form a
n
:  

3
aaa  

 

h. (10%) Expand and simplify  

















2

23

352
 

 

 

 

 

 

i. (10%) Simplify 
















 24

125

32

8

25
 

 

 

 

 

 

 

 

Name: 



 

 

j. (15%) Write the following in the form a
3   

 

 















22

3

32

93

3981

9

1
 

 

 

 

 

 

 

2. (30%)  

 

a. (15%) Write in the form 2
n
a

m: 



a

ab

ba
16

2

16

2

3 2

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

b. (15%) Simplify 
221

21

222

222







nnn

nnn

= 

 

 

 

 

 

 

 


